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Sample Data:
t= 0 cart.p= <0.556, 0.08, 0>
t= 0.01 cart.p= <0.552, 0.08, 0>
t= 0.02 cart.p= <0.548, 0.08, 0>
t= 0.03 cart.p= <0.544, 0.08, 0>
t= 0.04 cart.p= <0.54, 0.08, 0>
t= 0.05 cart.p= <0.536, 0.08, 0>
t= 0.06 cart.p= <0.532, 0.08, 0>
t= 0.07 cart.p= <0.528, 0.08, 0>
t= 0.08 cart.p= <0.524, 0.08, 0>
t= 0.09 cart.p= <0.52, 0.08, 0>
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Questions:
1)
Initial p: t= 2.81 cart.p= <-0.568, 0.08, 0>
Final p: t= 2.82 cart.p= <-0.572, 0.08, 0>
Change in p=pf-pi=<-.004,0,0> kg m/s
2)
Pf= pi  + Fnet*deltat
Fnet*deltat=<-.004,0,0> Nm
3) Yes. The two values are equal. Impulse is equal to change in momentum.
4)The cart is travelling on a horizontal surface, so the momentum, along with the velocity vector, only changes in the x direction.  
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from visual imporc * =
scene.y = 400 # wove animation window down 400 pixels from top of screen
from visual.graph import ®
track = box (pos=vector (0,-.05, 0], size=(1.0, 0.05, .10])
cart = hox (pos=vector (-0.5,0,0), size=(0.1, 0.04, D.06), color-color.green]
cart.m = 0.50
cart.p = cart.wvector (0.7,0.1, 0]
deltac = 0.01
=0
mgraph = geurve (color=color.cyan)
cart.trail = curve(color=color.red)
while te3.0:
rate(100)
Fnet = vector(-0.4, 0, 0)
cart.p = cart.p + Fnettdeltat
print "c=v, t, "cart.p=", cart.p
cart.pos = cart.pos + (cart.p/cart.m *deltat
t=t o+ deltat
moraph.plot ( pos=(t, cart.p.x) |
cart.trail.append{pos-cart.pos)
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